55 TO FuUg, -
T
3

rc.c.‘- ( =
‘m-h\emﬁcs Problem-Solving Worksheets

www. furthermaths org. uk

Problem Sheet 1 — Number |

Questionl | 9 9 w1y 7 (323 %3)«(3x711)

—‘(’3*3 *1)*(37\3)‘—\)

2T (3 =« >

Se t\Wwe onswee S ¢3

Question 2 | £ 4y, ovuage of three avambass 35 ?
heie total vmust e 24 _S\I\C( lwe
o( (e numbb s arc S ond 1%, ond
5 +13% =18, the obthe nvAbr mutk
be L
uestion 3
o ‘O“. 1ol vieexAAr A8« L x Wx3x2r)
ajql A <Af a9 XKoo i wd 2R

— 1 \«loo =z |\ o\woco

Question 4 Eepressing Ehe avebas &5 (roohucts ,gg
Fr.mcs .

2=2 33 LI2.2 535 ¢:2%3

1=7 %;2»"1\'2.,0\23x3.
Thne nuawbes necol<c A < owl A taclu
—

(h( P"\MCQ \{Slt_d a»bo\’c. ‘V\L V'\VMM«

‘s A
O£ Q.M(S cath ?f\mt 'S l'\(.\u.o\{d T 3\\:

o v~ A v Ao v o-( ti~neS W&

dg O\\l

b t Ve M\ ' ™
‘A ke Lsl obove So Ane

o‘?\oco-rs
22 w2 x3=3 X8 =1 =232

V\vm\ov [




<55 TO Fug
G by

www. furthermaths.org. uk

Problem-Solving Worksheets

Question 5 | o\* - Y (o117 - 1) o - yliort o)
(1o1® - 2) (1 =) (rerv* =2 )(1o\* T 1)
T-Qoﬁ-ez)ly‘/ﬁ(lo\"«-l)(y\}{\)

(M)(\Q%)
“(‘°'2*")(lo/lz/2)(9\’/ﬂ\k\0\2—‘)
o (‘9}41\(9\}/—\-\)
(e Dot et )]
=(le® ~2) -« 2
z 20l
Question 6

(1ot a1 ) (B8Y «TL) LV =51 (k1«31 )20 T\\)

—

(lo1 = A8 - T1) (et =S N (=31 )21 - 1)

- 9)7(\04-\);!{(% ~1)S+-(¢ .\)}/\.—(L‘-.\)y(a...\)

S (1o -1) I (5 -1) $4 (6 1) Br (L -1 2

= Ve X AL I |
s - 7 = ,
A ?/ 5/.3 < |

Question 7

Sace Ineg wcan's 20 W &‘;vt o Vs s vuth
Lolal ta 100 If ke avenlous re acronged

A Ve A Me Ao s |g AV
A & Scndin ocdaS —

st twoe 2ic s . | thee wae

T\-;\crv_ ore o\ \co
AY “~y b

—ore then lwe ZLks e m G Mo

we \ O bf— 11‘[‘ . SG “““C M*%\ b(_ Qwo LL‘$ .

‘(::\Q \\SL »\o.s &V\‘ Co(‘M

EANEEY R R R e

Wwhave 76—#3:3[ o~ O\ 96.\3&7—\




@55 TC FUR,.,
Y,

C
v Y
m@ti cs

www. furthermaths org. uk

Problem-Solving Worksheets

Question 8

< 2 > « 2 =q0 —— &
142 +4--49 410+ + ~- 495 99
“ 3% 00 >
100 4101 ~- ® + 594
4y ———3
Y000+ -5 - 4 o0

1008 pagpe |

tolsl

39

2109

40

o LAy
kb taltj

| 849
29289
2929




